Speed, time, Planck’s constant and the structural unit of the matter of the Universe

This article represents solution to prove the new measurement for time of the moving body and to prove the existence of the structural unit of the matter of the universe.
Every moving body has its own speed and its own time.

Own time of the moving body is inverse magnitude to the speed of this body:

 t = 1/v  (where: t – is time, v – is speed).

The more own speed of the moving body the less (slower) own time of this body.

Speed defines time.

This is in total accordance with Einstein’s theory of relativity.

Measurement for a speed is m/s, consequently correct measurement for a time of the moving body has to be s/m (where: s – is second, m – is meter).

The meter is unit of length. Modern definition of meter is: the meter is the length of the path traveled by light in vacuum during a time interval of 1/299 792 458 of a second (The 17 th General Conference on Weights and Measures, CGPM, 1983). 

From this comes the following.

The real unit of time is the inverse magnitude to the speed of light: 

t = 1/c = 1/299 792 458  s/m (where: t – is time, c – is speed of light). It is the time of the path traveled by light in vacuum the length interval of one meter. 

This is time of our space of the Universe. 

The speed of light in the space of the Universe determines the flow of 

 time in it.

Definition of second can be: the second (s) is the time of the path traveled by light in vacuum the length interval of 299 792 458 meters (m).

In the case of the resting body, measurement for time is (s) second not s/m, because there is no movement, and nothing to measure by the (m) meter. Resting body hasn’t its own time.

Time of the resting body is the time of inertial system, to which resting body belong. 

In the case of Earth, time of the resting body is determined by the Earth’s movement around its axis and around the Sun. It is not the own time of the resting body. Time of the resting body is the Earth’s own time.
Measurement for the Planck’s constant (h) is J·s (it is product of work and time) and can be expressed by expression: J·s = N·m·s = kg·m·m·s/s² = kg·m²/s.

From this expression we can see, that Planck’s constant (h) represents something that contains mass inside itself (kg·m²/s). But something is not correct in this expression because measurement by kg·m²/s does not make sense.
Not correct measurement for a time of the moving body.

In this not correct expression was used measurement for a time of the resting body, whereas have to use measurement for a time of the moving body.

Measurement for a time of the moving body is:  s/m (where: s – is second, 

m - is meter).

Thus correct measurement for the Planck’s constant (h) is expressed by expression: J·s/m = N·m·s/m = kg·m·m·s/s²·m = kg·m/s.

Now everything is correct: h = mc (kg·m/s).

It does mean, that Planck’s constant is impulse of particle-wave, which has the least mass in the Universe and which is in the state of movement at the speed of light.

Mass of this particle-wave is: m = h/c = 2.210 x 10ˉ² kg.

This particle-wave has minimal possible properties of the particle and the maximum possible properties of the wave in the Universe.

From this particle-wave space and substance are formed and it is structural unit of the matter of the Universe.

I have named this particle-wave the photon of space and substance.
From stated above comes the following.

The number of photons of space and substance (nm), from which mass (m) is formed, defines by formulas: nm = m/mph = mc/mphc = mc/h 
(where: mph – is mass of photon of space and substance, c – is speed of light, 
h – is Planck’s constant).

Mass of photon of space and substance is: mph = h/c = 2.210 x 10ˉ² kg.

Consequently:
1) for the electron:  ne = me/mph = 4.122 x 1o¹¹
2) for the proton:  np = mp/mph = 7.57 x 10¹
3) for the neutron:  nn = mn/mph = 7.58 x 10¹.
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